G“ us

UL-C-UL BB &

Relay-type Terminal Block

EwF . pitch 27mm

A +2 ]
i . = 2 | UF1005-100A-PCA
L ® 5 AC6OOV 100A
25.5 27 21.5 HERIEM D500V  100MQ LAk
/L lusulation Resistance] DC500V  100MQ and over
A\ fit & £ AG3000V 143 LLE
T_‘ 1 @ Withstands Voltage | AC3000V 1minute and over
1 eiible| T N BLE ve
| \r‘_‘/ 'r Y - Iy Screw Diameter
it — Ol BFE 1/0-5AWG (UL/C-UL)
il T 7 2 BOER 1/0-6AWG (Tuy)
® ® e FI 7R 7 RT 7 JERER®T  R3s-s
f ¥ ULE#RAX | 777 =04 )07 /FW1
" o @ E:’ﬁﬁ D_D @ UL w\rﬁ?Met;d 7 Factory Wiring 7
’§<‘ 4 23 6.5 o —fi% /2% General Tolerance 0.5

|Rf§/$cale Vs BA{L/Unit mml

)

®O

NER o1

40

18
Q

@DHIN—EHHAR
A

+2
C L

s WSO A (] p. 2 //

« Ordering Form:Type No. No.of Poles(P) « II

* REARE A AT R L2730 0N, ﬂ‘

* Connection screw:Tightening torque is 3.0N-m. 6_

< i R (REEM) BRE B R, BT — 2 R S L, —IREE . QI3

« Application:Commercial appliance, including business equipment, electronic data processing equipment, etc.

or general industrial.

W {t#%.Specifications. «

3 /Part No, % /Part No. . Material #4k/Standard | Tik/Size QLI /Treatment 1% /Remark 4-R2 17/
1 I Internediate base | 7 = / — VIR Phenolic UL H {8 Black
2 Wi¥EF A End base A | 7=/ —/VHIIE  Phenolic UL {4 Black *@%{/Poles 1P op 3p 4P 5P 6P P 8p 9p 10P
3 i~ B End base B|7=/—/V#l§ Phenolic UL B Black
4 HESA Terminal b Brass C2680R R 3.0 AR A »F  Tin-Plated A 57 84 111 138 165 192 219 246 273 300
5 R E 2 Screw & Brass €2700W M6X1.0X120 | =/ AAvF  Nickel-Plated PLSiz AR Type® B 47 74 101 128 155 182 209 236 263 290
6 R Marking surip| 77478 Fiber o 17 0.8 B Wit C 44 | 71 | 98 | 125 | 152 | 179 | 206 | 233 | 260 | 287
7 78— Cover RYA—Hx—b  Polycarbonate UL IR 1.0 % B Transparence
8 A=W E R Cover Retaing scres # 6 Brass 2700 M3X0.5X60 [ =yklAy%  Nickel-Plated PIEAZFA Type® fadi/Poles | 11P | 12P | 13P | 14P | 15P | 16P | 17P | 18P 19p | 20P
9 JHEERL R Connecting bolt 23 Steel SWeH M4x0.7 Zfi/aA=b Trinkent Chronate Tretnent F A 397 354 381 408 435 462 489 516 543 570
10 %S~ b Comnecting nut &k Steel SWCH M4 X0.7 Zf/A=b  Trivien Chronele Treatment
T T 2T o | Eeer oo - B 317 | 344 | 371 | 398 | 425 | 452 | 479 | 506 | 533 | 560
12 o=k Fv b Insert Nut # 4 Brass 36048 M3X0.5 AwFRL Noplating C 314 | 341 368 | 395 | 422 | 449 | 476 | 503 | 530 | 557




